24. Key factors in change
1. Fill in the gaps
In late 2015 Volkswagen’s cheating over exhaust emissions forced it to change radically. Its __________________ had to switch from diesel to electric engines and its organizational __________________ needed a huge overhaul. In this case crisis caused change. At other times change comes from ____________________ causes, such as new targets set by a new leader. In this case the changes should be planned and therefore should be easier to control. In fact the effects of change often prove more erratic than might be expected. A carefully planned improvement to the training of young managers might lead to higher ____________________turnover, as the managers take their new expertise to other companies offering higher pay. Business management is rarely predictable because the effects of change cannot be controlled.    Choose the missing words from this list: labour, culture, internal, strategy.
2. Match two effects to each cause
	External Causes of Change
	Ans
	Effects of these changes
	Effects of these changes

	2.1 The Bank of England increases interest rates sharply
	
	A. Staff suffer sudden layoffs due to cuts in factory output 
	E. You decide to try to win over the top staff from your rival 

	2.2 A severe earthquake in Japan hits the supply of car parts and microchips worldwide
	
	B. Production has to be halted in many UK factories including Toyota, Nissan and Nittan UK (smoke alarms)  
	F. The corporate plan must be changed to identify a new approach to promotion. 

	2.3 A failed merger between 2 big rivals provides new opportunities
	
	C. Some very specialised marketing staff are made redundant
	G. A highly geared company cuts back on its expansion plan

	2.4 A new law bans chocolate companies from advertising on TV 
	
	D. The corporate plan can be changed to focus on increased market share
	H. Stock levels are cut in antici-pation of falling consumer demand


3. Explain why:
3.1 Change may be harder in a small business than in a large one
______________________________________________________________________________________

______________________________________________________________________________________
______________________________________________________________________________________
3.2 Rapidly executed change may be a way to minimise staff resistance. 
______________________________________________________________________________________

______________________________________________________________________________________
______________________________________________________________________________________
4. Explain how:

4.1 A business with a strong organisational culture might be the hardest to change_________________________

______________________________________________________________________________________

______________________________________________________________________________________ 
4.2 Being subjected to a takeover bid may lead a firm to make immediate internal changes____________________

______________________________________________________________________________________

______________________________________________________________________________________ 
4.3 Bigger rivals might respond to your own rapid organic growth _____________________________________

______________________________________________________________________________________

24. ANSWERS: Key factors in change
1. strategy … culture … internal …labour
2.1 G. H.

2.2 A. B.

2.3 D. E.

2.4 C. F.

3.1 Change may be harder in a small business than in a large one

· People are working together so closely (including, perhaps, all in the same room) that corporate plans and jargon cannot disguise bitter reality (‘You’ve now got more power than me’)

· There are unlikely to be jobs where the losers can be ‘parked’ (in big companies, the losers become the Schools Liaison managers! 
3.2 Rapidly executed change may be a way to minimise staff resistance. 

i. Staff say they want to be consulted/involved, but the risk is that a difficult/unsettling process drags on; if it’s too long, better staff will look to move; better, perhaps, to make quick decisions and implement them immediately
ii. Most staff resist only when there’s a chance that resistance might achieve something; when final decisions have been made and implemented, most will accept it 

4.1 Those working for a business like the original start-up Innocent Drinks’ business would have been self-selected to be entrepreneurial and probably socially minded. Now they work for Coca-Cola? How does that feel? Not good probably. The strength of the Innocent culture makes it hard for another business to take over.
4.2 To resist a takeover bid it is helpful to be able to show that the existing management already has new, successful plans in place; therefore changes that boost short-term profit are often brought in very quickly

4.3 Once a small firm starts biting into the market share of a big rival, the response can be fierce. When Tropicana (owned by U.S. giant PepsiCo) launched a range of Smoothies to rival Innocent Drinks, even though the launch was not a success, it forced Innocent into the arms of Coca-Cola to ensure the survival of the business. 
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